The group G is isomorphic to the group labelled by [ 70, 1 ] in the Small Groups library.
Ordinary character table of G = C7 x D10:

la 2a Ta 5a 14a 70 35a 50 14b Tc 35b 35¢ 14c 7d 35d 35e 14d Te 35f 35¢g 14e 7f 35h 351 14f 357 35k 351
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 -1 1 1 —1 1 1 1 —1 1 1 1 —1 1 1 1 -1 1 1 1 —1 1 1 1 —1 1 1 1
xs |1 -1  Em° 1 ~E(M°  E(7)Y E(7)5 1 —E(7®  E(7) E(T) B(7)5 ~E(T*  E(7)? BE(T)* E(7)° ~E(T?  E(7)? E(7)? E(7)* —E(M)?  B(7) E(7)? E(7)3 —E(7) E(7) B(7)? E(7)
o |1 -1  E@)p 1 _E(T) E(T) E(7)° 1 “E(M)?  E() E(7)3 E(7)° _E(T)  E(1)° E(7) E(7)3 _E(M)  E(7)* E(7)° E(7) _E(MY E(T)? E(7)} E(7)8 _E(7)2 E(7)2 E(7)* E(7)2
xs | 1 -1 Em)* 1 —E(M*  E) E(7)* 1 —E(T)  BE(7)? E(7) BE(7)* —E(T)  B(7)? E(7)5 E(7) —E(T)?  B(7)° E(7)? E(7)5 BN  B(7) E(7)5 E(7)? —E(7)? E(7)3 E(7)° E(7)
xe | 1 -1 E(7)3 1 —E(7)2  E(7)S E(7)3 1 —-E(7)¢  E(7)? E(7)¢ E(7)3 —-E(7)?  E(7)? E(7)? E(7) —E(7°  E(7) E(7)° E(7)? —-E(7)  E(7)* E(7 E(7) —EB(7)* E(7)4 E(7) E(7)*
xr |1 -1  E(7)? 1 —-E(7)?  E(7)* E(7)? 1 —-E(71)* E(7)° E(7)* E(7)? —-E(71¢  B(T E(7)¢ E(7)* —-E(7)  E(7)3 E(7 E(7)8 —-E(7)3  E(7)° E(7)3 E(7) —E(7)° E(7)° E(7)3 E(7)°
s |1 -1 E(7) 1 _E(T)  E(T)? E(7 1 _E(1)?  E(1? E(T)? E(7) —E(T? BT E(T)? E(7)? —EM E(TP E(T)* E(7)3 —E(TP BT E(7)° B(T)* —E(7)8 E(T)® E(T) E(T)
Xo |1 1 E@° 1 E(T)S  E(7) E(7)5 1 E(T)S  E(7)* E(T) E(7)5 E(MY  E(7) E(7)* E(7)° E(T)?  E(7)? E(7)? E(7)* E(T)?  E(T) E(7)? E(7)3 E(7) E(7) B(7)? E(7)
xwo| 1 1 E7)? 1 E(7)% E(7)3 E(7)° 1 E(7)3 E(7) E(7)3 E(7)° E(7) E(7)8 E(7) E(7)3 E(7)8 E(7)* E(7)8 E(7) E(7)4 E(7)? E(7)4 E(7)8 E(7)? E(7)? E(7)4 E(7)?
xul|1 1 BT 1 E(M*  E®) E(7)* i E(T)  E(T7 E(7) E(7)* E(M?  E(1)? E(7)? E(7 E(M?  E(1)° E(7)2 E(7)° E(ME  E(1)? E(7)° E(7)2 E(7)3 E(7)? E(7)8 E(7)3
xiz2| 1 1 E(7)3 1 E(7)3 E(7)¢ E(7)3 1 E(7)S E(7)? E(7)¢ E(7)3 E(7)? E(7)° E(7)? E(7)S E(7) E(7) E(7)° E(7)? E(7) E(7)* E(7) E(7) E(7)* E(7)4 E(7) E(7)*
x| 1 1 E(7)? 1 E(T?  E(1)* E(7)2 1 E(M*  E(7)° E(7)* E(7)?2 E(®  E(T) E(7)° E(7)* E(7)  E(T) E(7) E(7)8 E(M?  E(T) E(7)3 E(7 E(7)5 E(7)5 E(7)3 E(7)
xull 1 E®T 1 E(T)  E(7)? E(7) 1 E(MN?  E(7)} E(7)? E(7) E(T)?  E(7)* E(7) E(7)? E(M* BT E(7)* E(7)3 E(TP  E(T) E(7)° E(T)* E(7) E(7)° E(7)° E(7)
xi5| 2 0 2xE(7)° E(5)?+E(®(5)?3 0 2x E(7)% EB5*+ EB5Y  E(B)+ E(5)? 0 2% E(7)  E(35)+ E(35)% E(35)'® + E(35)%2 0 2% E(7)% E(35)Y + E(35)%6 E(35)% + E(35)%2 0 2% E(7)* E(35)°+ E(35)'  FE(35)'2 + E(35)% 0 2% E(7)? E(35)°+ E(35)3%  E(35)% + E(35)% 0 E(35)% + E(35)31  E(35)1% + E(35)%" E(35)% + E(35)'7
Xi6| 2 0 2xE(T) EG)+EG)Y 0 2+«E(M? EG5)S+EB52 EG)?2+EG)? 0 2+E(T)  EGB5 +EGB5)2  EGH '+ EBSY 0 2+E(MS E(35)2+ E(35)%  E(35) + E35)% 0 2+BE(M* EGB5)2+EB5® EGBH)Y+EB® 0 2+E(1? EB5)B+EGB5)Y EB5+EGBH)S 0 EB5)3+ B35 B35 + E(35)3  E(35)2 + E(35)%
xir| 2 0 2+E(M* EGPHEG)? 0 2+ET)  EGB5+EGB)® EG)FEGY 0 2+E(T)° EB5Y 1 EB5 EB35)3+EB35)Y 0 2+E(M? EG5) +EGB5)Y EGSI2HEB5)® 0 2xEM° B35+ E(35)% EGB5)S 1L EB5? 0 2+E(1)? EB35)°+EB5)S  EB5)P+EB5)T 0 E(35)+ E(35)2°  E(35)2+ E(35)%  E(35)° + £(35)%
Xis| 2 0 2«xE(D* EG)+EG)Y 0 2+ET EG5)B+EGB5Y EG2+EG)? 0 2+BE(T)S E@B5)2+EB5® EG5)S+EB5 0 2+E(T)? EG5)S+EB5% EB5)Y+EB5)® 0 2xEM°S B35+ EB5)T EG@5)+ B35 0 2xE(M? E(35)2+EB35)® B35+ EGB5)Y 0 E(B35)2+EB5)2 E35)° 4+ E(35)6  E(35) + E(35)%
Xio| 2 0 2xE(T)? EG2+EG)? 0 2xEMS  BE(35)+E(35)%  E(5)+ EB(5) 0 2+«B(7)? E@B5)°+E(B5Y EB5+EB5)2 0 2+B(7)° B35+ EB5)3 BE(B52+EB5)® 0 2xE(T) E@5) + B35 E(B53+EB5)T 0 2+ EB(7)* E(35)9+E@35) EGB5)S+E(35)%2 0 EB35)°+E(35)%  E(35)2+ E(35)%  E(35)1 + E(35)%7
X0 | 2 0 2xE(7) E(5)+ E(5)! 0 2+«E(T° E@B5)S+E®B52 EGZ+EG? 0 2+E(M? E(35)2+EB5)%  B(35) + B(35)%° 0 2«BE(7)° E@5)P+EB5YT EB5+EGB5)S 0 2+E(7) E(B5)B+EB5)2 EGH)®+EB53 0 2xE(7)! E(35)12+ E(35)%  E(35)1+ E(35)!! 0 E(35)13+E(35)2 EB(35)Y+ B(35)2  B(35)° + B(35)%
Xor | 20 2xE(T)? EG)2+EG)? 0 2+EM* EG)X+EGB5 EG)+EG)? 0 2xBE(NS EB5)+EB5)  EG5)P+EBS)YT 0 2xE(T)  E(B35°+EB5) EB(B5)B+EB5)Y 0 2xE(T)? E(35)0+E(35)2 E@5)2+E(352 0 2xE(T)®  E(35)+E(35)2  E(35)2+E@B5)% 0 E(35)1+EB5)Y B35+ E(35)2  E(35)' + B(35)%
X2 | 20 2%E(T)? EG)+EG)Y 0 2+EM* EB5P+EB5)YT EG?2+EG)? 0 2+BE(NS E@B5)B+E®B5Y EB5X+E@B5)Y 0 2xE(T) EB5)2+EGB5)® EGHS+EB5 0 2+E(T)? EGBH)2+EB)® EGB5)+EB5)S 0 2+E(T)° EB5 +EB)2 E(35)Y+EB5)® 0 EG@5)S+E(35)%2 B35+ EB5) B(35) + E35)1
Xos | 20 2xE() EG2+EG)? 0 2+EM? EG5)0+EGB5 EG)+EG)Y 0 2+BE(T)? EGHX+EB5P EB5)24HEGB5)® 0 2+E(M)Y E(35)+ B35  EGB5)P+EBS)T 0 2+E(T)° EB5°+EB5) EGB5E+EB5)2 0 2+EM°S B35+ EB5) E(35)B+EB5)Y 0 B35+ E(35)0  E(35)1 + E(35)%  E(35)2 + E(35)%
Xea | 20 2xE(7T)  E(5)+ E(5)* 0 2% E(7)2 E(35)'2+ E(35)% E(5)?+ E(5)3 0 2% E(7T)3 E(35)3+ E(35)'7 E(35)' + E(35)%¢ 0 2% E(T)Y  E(35)%+ E(35)?2 E(35)* + E(35)3! 0 2% E(T)5 E(35)'3 + E(35)%" E(35) + E(35)%* 0 2% E(7)S E(35)!18 + E(35)32  E(35)° + E(35)3 0 E(35)%2 + E(35)*  E(35)*+ E(35)  E(35) + E(35)1¢
Xos | 20 2% E(TS EG)2+EG)? 0 2xE(T)S B35+ EB35)  E(5)+ B(5) 0 2+«B(1* EG5)+EB5)Y EB52+EGB5)® 0 2+B(7)? E@B5)°+ B35 BG5S+ B35 0 2+B(7)? EGB5)+EBH® EG5)B+EGB5Y 0 2xBE(T) B(35)2 + E(35)3  B(35)° + E(35)2 0 E(35)9+E(35)2 E(35)+ E(35)\7  E(35)2 + E(35)%
X2 | 2 0 2xE(NS EG)+EG)Y 0 2+E(T)° EGB52+EBH® EG2+EG)? 0 2+E(N)Y E(B35)®+EB5)P EGB5)?+EB5S 0 2+E(7)? EGB5)B+EBSYT EGH +EBH)!Y 0 2xE(T)? EB5 +E@B5)2 EGBHS+EB5 0 2+E(T) EB35?+E(35)Y E(35) + E(35)% 0 E(35)12+E(35)% B(35)% + B(35)% E(35)' + E(35)%
Xer | 20 2 EG)?+EG? 0 2 E(G)2?+EG?  E(G)+EGE 0 2 E(5)? + E(5)3 E(5) + E(5) 0 2 E(5)? + E(5)3 E(5) + E(5)* 0 2 E(5)? + E(5)3 E(5) + E(5)* 0 2 E(5)? + B(5)3 E(5) + E(5)* 0 E(5)? + B(5)3 E(5) + E(5)* E(5) + E(5)*
Xes | 20 2 E(5) + E(5)* 0 2 E(5) + E(5)* E(5)?+ E(5)3 0 2 E(5) + E(5)* E(5)?+ E(5)3 0 2 E(5) + E(5)* E(5)?+ E(5)3 0 2 E(5) + E(5)* E(5)% + E(5)3 0 2 E(5) + E(5)* E(5)% + E(5)® 0 E(5) + E(5)* E(5)% + E(5)3 E(5)? + E(5)3
Trivial source character table of G = C7 x D10 at p = 2:
Normalisers IV; Ny Ny
p-subgroups of G up to conjugacy in G Py P,
Representatives n; € N; la Ta 5a 7 35a 5b Tc 35b 35¢ 7d 35d 35e Te 35f 35¢g 7f 35h 351 357 35k 351 la Ta 7 Tc 7d Te 7f
1-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28| 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0
0-x1+0-x24+1-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-x04+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x154+0-X16+0-Xx17+0-x18+0-x10+0-x20+0-x21 +0- X224+ 0-X23+0-x24+0-x25+0-x26+0-x27+0-x25 | 2 2xE(7)° 2 2% B(7)° 2% E(7)° 2 2% E(7)* 2% E(7)° 2% B(7)° 2% E(7) 2% B(7)* 2% B(7)° 2% E(7)? 2% E(T)° 2% E(7)* 2x B(7 2% B(7)? 2% E(7)° 2% BE(7) 2% E(7)? 2 BE(7) 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+1-x6+0-x7+0-xs+0-x0+0-x10+0-x11+1-x12+0-x13+0-x14+0-x154+0-Xx16+0-Xx17+0- X158 +0-x190+0-x20+0-x21 +0-x22+0-x23+0-X2a+0-x25+0-x26+0-x27+0-x28 | 2 2xE(7)> 2 2% E(7)° 2% E(7)3 2 2% E(7)? 2% E(7)° 2% E(7)3 2% B(7)° 2% B(7)? 2% E(7)° 2% E(T) 2% B(T7)° 2% B(7)? 2% B(7) 2% E(T) 2% B(7)° 2% B(7)% 2% E(7) 2% E(7)* 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+1-xa+0-x5+0-x6+0-x7+0-xs+0-Xxo+1-X10+0-x11+0-x12+0-x13+0-x14+0-x15+0-Xx16+0-x17+0-x18+0-X19+0-X20+0-X21 +0-x22+0-x23+0 X2 +0-Xx25+0-X26+0-x27+0-x25 | 2 2xFE(7)5 2 2% B(7)3 2% B(7)° 2 2% E(7) 2% B(7)3 2% B(7)° 2% B(T7)° 2% E(7) 2% E(7)3 2% E(7)* 2% B(7)° 2% E(7) 2% B(7)? 2% E(7)* 2% B(7)° 2% B(7)? 2% B(7)* 2% B(7)? 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+1-x5+0-x6+0-x7+0-xs+0-xo+0-x10+1-Xx114+0-x12+0-X134+0-x14+0-Xx15+0-x16+0-Xx17+0-x18+0-X10+0-x20+0-X21+0-x22+0-x23+0-X2a+0-x25+0-X26+0-x2r +0-x28 | 2 2% E(7)* 2 2% E(7) 2% B(7)4 2 2% B(7)5 2% E(7) 2% B(7)4 2% E(7)2 2% E(7)5 2% E(7) 2% BE(7)8 2% E(7)2 2% E(7)° 2% E(7)° 2% E(7)° 2% E(7)? 2% E(7)3 2% E(7)° 2% E(7)3 0 0 0 0 0 0 0
0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+1-x8+0-x0+0-x10+0-x11+0-x12+0-x13+1-x14+0-x15+0-x16+0-x17+0-x18+0-x10+0-x20+0-X21+0-x22+0-x23+0-Xx24+0-x25+0-x26+0-x27+0-x28| 2 2xE(7) 2 2% E(7)? 2% E(7) 2 2% E(7)3 2% E(7)? 2% E(7) 2% E(7)* 2% E(7)3 2% E(7)? 2% E(7)° 2% E(7)* 2% E(7)3 2% E(7)° 2% E(7)° 2% E(7)* 2% E(7)° 2% E(7)° 2% E(7)° 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+1-x7+0-xs+0-x0+0-Xx10+0-x11+0-x12+1-x13+0-x14+0-x15+0-x16+0-X17+0-Xx18+0-x10+0-x20+0-x21 +0-x20+0-X234+0-X2a+0-x25+0-x26 +0-x27 +0-x28 | 2 2xE(7)? 2 2 B(7)* 2% E(7)? 2 2% E(7)° 2% BE(7)* 2% B(7)? 2% E(7) 2% E(7)° 2% BE(T)* 2% BE(T)? 2% B(7) 2% B(7)° 2% B(7)° 2% E(7)° 2% E(7) 2% B(7)° 2% E(7)° 2% E(7)° 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-Xx5+0-Xx6+0-Xx7+0-Xxs+0-x0+0-x10+0-Xx11+0-x12+0-Xx13+0-x14+0-Xx15+0-x16+0-X17+0-x18+0-X10+0-x20+0-X21 +0-X22+0-X23+0-X2a+1-Xa5+0-X26+0-xar +0-x2s | 2 2xE(7)S E()2+E(5)® 2xE(7)° EB35)°+E@B5)%  EG)+EG)?* 2xE(M* EB5*+ E@B5Y  E(35)2+E((35)23 2xE(7)3 E(35)5+ E(35)% E@B5)18+E(35)3%2 2xE(7)2 E@B5)+ E(35)%  EB5)B+E(B5)Y 2xE(7T) E(35)*+ E(35)% E(35)%+ E(35)%22 E(35) + E(35)% E(35)%+ E(35)17 E(35)12+ E(35)3 | 0 0 0 0 0 0 0
0- X140 X2+0 340 xa+0-x5+0x6+0-x7+0xs+0-x0+0-x10+0-X11+0-y12+0- X135 +0-y1a+ 1 X15+0-x16+0- X174+ 0 X185 +0- Y10+ 0 X20 + 0 Y21 + 0 X2z + 0 x23 + 0+ Xou +0-x25+0-yo6+ 0 X2r +0-yos | 2 2+ E(7)5 E(G)?+E()? 2xET? EGB5+EGB5Y  B(B)+E(6)Y 2+B(T)  E(35)+E(35)%°  B(35)8+ E(35)%2 2xE(T)° B(35)9 + B(35)% E(35)° + E(35)2 2+ E(T)* E(35)° + E(35)'6  E(35)'2 + E(35)® 2+ B(7)2 E(35)°+ B35 E(35)2+E35)%  E(35)2 + B35 EB(35)% + EB(35)2 E@5)P+EGB5)7 |0 0 0 0 0 0 0
0- X140 X2+0- 340 xa+0-x5+0X6+0-x7+0xs+0-x9+0-x10+0-X11+0-y12+0-X13+0-x1a+0-X15+0-x16+0- X174+ 0 X185+ 1 Y10+ 0 X20 +0- Y21 + 0 X2z +0-x23 + 0+ Xou +0-x25+0-Yo6 +0-X2r +0-yos | 2 2+ E(7)? EG)2+E()? 2xE(M° B35+ E(35)%  B(5)+E(G)! 2+«B(7)? B35+ E35)S B35+ E@35)22 2xE(1)° B(35)% + B(35)%  E(35)2+ E(35)2  2xE(T)  E(35)*+ E(35)""  E(35)73 + E(35)Y 2+ EB(7)* E(35) + E(35)%° E(35)'S + B(35)% E(35)0 + E(35)% E(35)'2 + B(35)® E(35B+EB352 |0 0 0 0 0 0 0
0 X140 X2+0- 340 Xa+0-x5+0X6+0-x7+0-xs+0-x9+0-x10+0-X11+0- Y1240 X135 +0-x1a+0-X15+0-x16+0- X174+ 0 X185+ 0+ Y10+ 1 X20 +0- Y21 + 0 X2z +0-x23 + 0+ Xou +0-x25+0- Ya6 + 0 x2r +0-yos | 2 2+ E(7)? EG)+EG) 2xE(M° EB5)+EB5)2 EG)?+EG)? 2+B(7)? E(35)2+ E(35)2  EB35) + E(35)% 2+E(T)° EB35)+EGB5)YT EB(35)° + E(35)10  2xE(T)  E(35)' + E(35)% E(35)% + E(35)% 2+ EB(7)* E(35)'2+ E(35)% EB35)*+EB5)Y E(35)8 + E(35)27  E(35)° + B(35)%  E@35)°+E@B5)% | 0 0 0 0 0 0 0
O-x14+0-x2+0-x3+0-x44+0-x54+0-x64+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x134+0-x14+0-x15+0-x16+0-x174+0-x18+0-x104+0-x20+0-x21+0-x224+0-x23+0-x24+0-x25+1-x26+0-x27+0-x28 | 2 2*E<7)6 E(5)+E(5)4 2*E(7)5 E(35)2+E(35)23 E(5)2—|—E(5>3 2*E(7)4 E(35)18+E(35)32 E(35)9+E(35)16 2*E(7)3 E(35)13+E(35)27 E(35)4+E(35)11 2*E(7)2 E(35)8+E(35)22 E<35>6+E(35)34 2*E(7 E(35)3+E(35)17 E(35>+E(35)29 E(35)12+E(35)33 E(35)24+E(35)31 E(35)19+E(35)26 0 0 0 0 0 0 0
0-X14+0-x2+0-x3+0-xa+0-Xx5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-X13+0-x14+0-x15+1-x16 +0-Xx17+0- X158 + 0 x19 +0-X20 + 0 Xx21 +0-X22 +0-x23 +0-X2a +0-x25 +0-Xx26 +0-x2r +0-x28 | 2 2% E(7)> E(5)+ E()* 2xE(7)* E(35)' +E(35% E(5)*+E(5)® 2xE(7) E(35°+E(35)* E(35)"+E(@35)" 2+E(7)° E(35)"™+ E(35)% E(35)+E(35% 2xE(TM)' E(35)?°+ E(35)* E(35)"Y+E(35 2+E(7)> E(35)"+ E(35)°" E(35)°+ E(35)'° E(35)°+ E(35)'7  E(35)°+ E(35)*" E(35)*' + E(35)°" | 0 0 0 0 0 0 0
0-x1+0-xa+0-x34+0-xa+0-x5+0-Xx6+0-x7+0-xs+0-X0+0-x10+0-x11+0-x12+0-Xx13+0-Xx14+0-x15+0-x16 +1-Xx17+0-X18 + 0- X190+ 0-X20 +0- X210 +0- X220+ 0- X283+ 0-X20 +0-x25 + 0-x26 + 0-x2r + 0-x28 | 2 2x E(N)* E(G)?+E(5)® 2xE(7) E(35°+E35)* E()+E(5)" 2xE(7)° E(35)"Y+ E(35)% E(35)" + E(35)* 2xE(7)> E(35)"+ E(35)" E(35)'+ E(35)% 2xE(T)° E(35)° +E(35)° E(35)'"® + E(35)° 2xE(7)° E(35)°+E(35)'° E(35)°+E(35)'  E(35)+ E(35)%  E(35)°+ E(35)% E(35)°+ E(35)% | 0 0 0 0 0 0 0
0- X140 X2+0- 340 Xa+0-x5+0X6+0-x7+0xs+0-x9+0-x10+0-X11+0-y12+0- X135 +0-x1a+0-X15+0-x16+0- X174+ 0 X15+0- Y10+ 0 X20 +0- Y21 + 0 X2z +0-x23+ 1 X2u +0-x25+0-Yo6 +0- X1 +0-yos | 2 2% E(T) EG)+EG)?* 2xE(T? E(35)2+ E(35)% EG)?+EG)? 2+B(7)? E(35)7°+EB35)Y7  B(35)9+ B(35)2 2xE(M)* E(35)°+E(35)2 B35+ EB35)3 2+ E(T)° E(35)B +E(35)2  EB(35)+ EB35)%° 2+ EB(7)S E(35) + E(35)%2  E(35)° + E(35)%  E(35) + E(35)  E(35)*+E35)"  E@B5)°+E@35)° | 0 0 0 0 0 0 0
0-x14+0-X2+0- 340 xa+0-x5+0X6+0-x7+0xs+0-x9+0-x10+0-X11+0- Y1240 X135 +0-x1a+0-X15+0-x16+0- X174+ 0 X15+0- Y10+ 0 X20 + 1 - Y21 + 0 X2z +0-x23 + 0+ Xou +0-x25+0-Yo6 + 0 x2r +0-yos | 2 2+ E(7)2 E(G)?+E()? 2xE(T)* E(35)% + E(35)% B(5)+E(G)! 2+B(7)° E(35°+E35)% E35)°+E@B5)7  2+B(7)  E(35)°+E(35) B35S+ E(35)2 2+ BT} E(35)Y+E(35)2  E(35)2+ E(35)2 2+ B(7)5  E(35)+ E(35)%°  E(35)2+ B(35)%  E(35)* + E(35)'1  E(35)°+E(35)2 E(B35S+EB35%2|0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-Xx114+0-x12+0-Xx134+0-x14+0-Xx15+0-x16+0-x17+1-x1s+0-X10+0-x20+0-Xx21+0-x22+0-x23+0-X2a+0-x25+0-x26+0-x2r+0-x28 | 2 2xE(7T)* EG)+EG)* 2xE(7) E@B5Y+E@B5)?2 E(G)2+E()® 2«E(7)° E(35)2+ E(35)3 E(35)5+E(35)3 2xE(7)? E(35)'8+ E(35)32 E35)Y+E(35)% 2xE(7)5 E@B5)3+E(35)  E@B5)+E35)"Y 2xE(7)> E(35)%+ E(35)* E(35)*+ E(35)3  E(35)%+ E(35)?2 E(35)°+ E(35)'6  E(35)+ E(35)% | 0 0 0 0 0 0 0
0-Xx14+0-x240-x3+0-xa+0-x5+0-x6+0-x74+0-x8+0-x0+0-x10+0-x11+0-x12+0-x134+0-x14+0-X15+0-x164+0-x17+0-X18+0-x104+0-x20+0-X21 +1-x22+0-x23+0-X2a+0-x25+0-x26+0-x27+0-x28 | 2 2% E(7)> E(G)+E(()" 2+E(M)* E(35)°+E@35)'7 E()*+E(B)® 2«E(N)° E35)"+E(35)* E(35)* +E(35)% 2xE(7) E(35)°+E(35)* E(35)°+E(35)* 2xE(7)> E(35)'2+E(35)* E(35)°+E(35)'° 2xE(7)> E(35)°+ E(35)** E(35)'"Y+E(35)* E(35)'® +E(35)* E(35)+E(35)* E(35)"+E@35)" | 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-Xx6+0-x7+0-xs+0-x0+0-x10+0-Xx114+0-x12+0-Xx13+0-x14+0-Xx15+0-x16+0-X17+0-x18+0-X10+0-x20+0-X21 +0-X22+1-X23+0-X2a+0-xa5+0-X26+0-xar +0-x2s | 2 2xE(7) E()2+E()® 2xE(M? EB5Y+E@B5)2 EG)+ EG)? 2xE(7)? B35+ E(35)3 E@B5)12+ E@B5)3 2xE(MN*  EB5) + E(35)%° E@B5)3+E(35)Y 2xE(7)° E@B5)°5+ E(35)3  E@B5)%+E(35)%2 2xE(T)S EGB35)*+ E(35)1! E(35)%+ E(35)% E(35)°+ E(35)1¢ E(35)1® + E(35)%2 E(35)%2+ E(35)% | 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-Xxo+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+0-x18+0-x19+0-Xx20+0-x21 +0-x20+0-x23+0-x24+0-x25 +0-x26+1-x27 +0-x2s5 | 2 2 E(5)* + E(5)° 2 E(5)* + E(5) E(5) + E(5)* 2 E(5)* + E(5) E(5) + E(5)* 2 E(5)* + E(5)° E(5) + E(5)* 2 E(5)* + E(5)° E(5) + E(5)* 2 E(5)* + E(5)° E(5) + E(5)* E(5)* + E(5)° E(5) + B(5)* E(5) + B(5)* 0 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14 +0-Xx15+0-x16 + 0- xa7+0-x18 + 0- X190+ 0-Xx20 + 0-x21 + 0- x20 + 0-x25 + 0 - x24 + 0 x25 + 0 x26 + 0- xor + 1 - x25 | 2 2 E(5) + E(5)* 2 E(5) + E(5)* E(5)* + E(5)° 2 E(5) + E(5)* E(5)* + E(5)° 2 E(5) + E(5)* E(5)* + E(5)° 2 E(5) + E(5)* E(5)* + E(5)° 2 E(5) + B(5)* E(5)*+ E(5)° E(5) + E(5)* E(5)> + E(5)° E(5)>+E(5)° 0 0 0 0 0 0 0
1-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-X10+0-x11+0-x12+0-x13+0-x14+0-x15+0-X16+0-x17+0-x18+0-x190+0-Xx20+0-X21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27r+0-x28 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0-x14+0-x24+0-x3+0-Xa+0-x5+0-x6+0-x7+0-xs+0-xo+0-x10+1-Xx11+0-x12+0-Xx13+0-x14+0-X15+0-x16+0-X17+0-x18+0-X10+0-x20+0-X21 +0-x220+0-X23+0-x20 +0-X25+0-x26 +0-x27r +0-x28 | 1 E(7)* 1 E(7) E(7)* 1 E(7)° E(7) B(7)* E(7) E(7)° E(T7) E(7)° BE(7) E(7)° E(7)° E(7)° B(7)? B(7)° E(7)° E(7)° 1 BE(M* B(7) ET° B(7)? B(7)° B(T7)°
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+1-X14+0-Xx15+0-Xx16+0-x17+0-Xx18+0-Xx10+0-Xx20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28 | 1 E(7) 1 E(7)? E(7) 1 E(7)3 E(7)? E(7) E(7)* E(7)3 E(7)? E(7)° E(7)* E(7)3 E(7)8 E(7)° E(7)* E(7)¢ E(7)° E(7)8 1 E(M) EM? EM? EM* ET)?® E(7)°
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+1-x13+0-X14+0-Xx15+0-Xx16+0-Xx17+0-Xx18+0-X10+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28 | 1 E(7)? 1 E(7)* E(7)? 1 E(7)° E(7) E(7)? E(7) E(7) E(7)4 E(7)3 E(7) E(7) E(7)° E(7)3 E(7) E(7)° E(7)3 E(7)° 1 E(M? EM* EM® ET) ET ET)?°
0-x14+0-x2+0-x34+0-x4+0-x54+0-x6+0-x7+0-xs+1-Xo+0-x10+0-x11+0-x12+0-x134+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-X20+0-x21 +0-x22+0-X23+0-x24+0-x25+0-x26+0-x27+0-x28| 1 E(7)8 1 E(7)° E(7)8 1 E(7)% E(7)° E(7)8 E(7)3 E(7)* E(7)° E(7)? E(7)3 E(7)* E(7) E(7)? E(7)3 E(7) E(7)? E(7 1 EMS EM> EM* ET? ET)? E7)
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+1-Xx12+0-x13+0-x14a+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-%x26+0-x27+0-x28]| 1 E(7) 1 E(7)° E(7) 1 E(7)? E(7)° BE(7)? BE(7)° E(7)? E(7)° B(7 BE(7)° E(7)? E(7)! E(7 E(7)° E(7)! E(7 E(7)* 1 E(M)? EM° E(T)? ET)® E(T) EB(T)!
0-x14+0-x24+0-x34+0-xa+0-x5+0-x6+0-x74+0-x8+0-xo+1-x10+0-x11+0-x12+0-x134+0-x14+0-Xx15+0-x16+0-x17+0-x18+0-x10+0-x20+0- X201 +0-x20+0-x23+0-x24+0-x25 +0-x26 +0-x2r+0-x28 | 1 E(7)° 1 E(7)? E(7)° 1 E(7) E(7)* E(7)° E(7)° E(7) E(7)° E(7)* E(7)° E(7) E(7)? E(7)* E(7)° E(7)? E(7)* E(7)? 1 E(M)° E(M? E(T) EM® ET)' E(7)?
P, = Group([()]) =2 1
Py = Group([(1,2)(3,5)(4, 30)(6, 25)(7, 10) (8, 40)(9, 20)(11, 35)(12, 16)(13, 17) (14, 50) (15, 29)(18, 45) (19, 24) (21, 26)(22, 58) (23, 39) (27, 54)(28, 34) (31, 36) (32, 64) (33, 49) (37, 61) (38, 44) (41, 46) (42, 68) (43, 57) (47, 66)(48, 53) (51, 70) (52, 63)(55, 69) (56, 60) (59, 67) (62, 65)]) = C2
Ny = Group([(1,2)(3,5)(4, 30)(6, 25)(7, 10)(8, 40)(9, 20)(11, 35) (12, 16)(13, 17) (14, 50) (15, 20)(18, 45)(19, 24)(21, 26)(22, 58) (23, 39)(27, 54) (28, 34)(31, 36) (32, 64) (33, 49)(37, 61) (38, 44) (41, 46)(42, 68) (43, 57) (47, 66)(48, 53) (51, 70) (52, 63) (55, 69) (56, 60) (59, 67) (62, 65), (1,3, 7,13, 21,31, 41)(2, 5, 10, 17, 26, 36, 46) (4, 8, 14, 22, 32, 42, 51) (6, 11, 18, 27, 37, 47, 55)(9, 15, 23, 33, 43, 52, 59) (12, 19, 28, 38, 48, 56, 62) (16, 24, 34, 44, 53, 60, 65) (20, 29, 39, 49, 57, 63, 67) (25, 35, 45, 54, 61, 66, 69) (30, 40, 50, 58, 64, 68, 70), (1, 4,9, 16, 25)(2, 6, 12, 20, 30)(3, 8, 15, 24, 35) (5, 11, 19, 29, 40)(7, 14, 23, 34, 45)(10, 18, 28, 39, 50) (13, 22, 33, 44, 54) (17, 27, 38, 49, 58) (21, 32, 43, 53, 61)(26, 37, 48, 57, 64) (31, 42, 52, 60, 66) (36, 47, 56, 63, 68) (41, 51, 59, 65, 69) (46, 55, 62, 67, 70)]) = C7 x D10
Ny = Group([(1,2)(3,5)(4,30)(6,25)(7, 10)(8, 40)(9, 20)(11, 35)(12, 16)(13, 17)(14, 50)(15, 29)(18, 45)(19, 24) (21, 26) (22, 58) (23, 30) (27, 54) (28, 34) (31, 36) (32, 64) (33, 49) (37, 61)(38, 44) (41, 46)(42, 68)(43, 57) (47, 66) (48, 53) (51, 70) (52, 63) (55, 69) (56, 60) (59, 67) (62, 65), (1,3, 7, 13,21, 31,41)(2,5, 10, 17, 26, 36, 46) (4, 8, 14, 22, 32,42, 51)(6, 11, 18, 27, 37,47, 55) (9, 15, 23, 33, 43, 52, 50) (12, 19, 28, 38, 48, 56, 62) (16, 24, 34, 44, 53, 60, 65)(20, 29, 39, 49, 57, 63, 67) (25, 35, 45, 54, 61, 66, 69) (30, 40, 50, 58, 64, 68, 70)]) = C14



